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(i) 

Current Ratio =  
Current Assets

Current Liabilities
 

Current Ratio =  3.5:1 

                
Current Assets

Current Liabilities
   = 3.5:1 

 

Current Assets (CA)  =  3.5 x Current Liabilities (CL) 

Quick Ratio  =  
Quick Assets

Current Liabilities
  

Quick Ratio   =  2:1 

                
Quick Assets

Current Liabilities
  = 2:1 

Quick Assets (QA)   =  2 x Current Liabilities (CL) 

Inventory  =  CA- QA  

48,000  =  3.5 x CL - 2 x CL  

48,000  =  1.5 x CL 

Current Liabilities (CL) =  Rs. 32,000  

Current Assets (CA)  =  3.5 x 32,000 

=  Rs. 1,12,000 

 

http://www.accountsaptitude.com
https://www.youtube.com/channel/UCZs-jHWW_r44dJIc6ONfXQw
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(ii) 

Debt  =  Total Debt - Current Liabilities 

=  Rs. 4,00,000 – Rs. 1,00,000 

=  Rs. 3,00,000  

 

Equity  =  Shareholder’s funds 

=  Rs. 2,00,000 

  

Debt Equity Ratio =  
Debt

Equity
 

Debt Equity Ratio =  
3,00,000

2,00,000
 

= 1.5:1. 
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